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Al 60,000
308 XtXIEHH SOl A 75,000 75,000 0




SH R D
Haj: 0lue 2ol (STEAMLE/ L
e

o
oo gead

= (o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 75,000
Al 60,000
M HbZSdXNAZAEES 75,000 75,000 0
otz s4 XN& 75,000,000& = 14 75,000
< 15,000
Al 60,000
XS odl =X & 54,000 49,500 4,500
201 Let24d]| 12,000 0 12,000
01 At 2teltl 12,000 0 12,000
ONBIZXS AR dXts XI&
1,000,000& * 128 * 1JHA 12,000
403 MtXISHHE X201 & 42,000 0 42,000
03 HHlZsSHEXNINEEX 42,000 0 42,000
OtldlzEd & &l 21,000,000& =« 14 21,000
OtldlZ XNt A4 EI17¢
21,000,000& = 14 21,000
CCTV Ze(SBEMYHA /THLH LT - 2lgte) 3,308,671 2,278,710 1,029,961
< 12,210
Al 3,296,461
CCTV 2el 2,286,861 1,599,410 687,451
CCTV SEg&HHEH 299 2,286,861 1,599,410 687,451
101 @14l 804,000 708,000 96,000
04 JI12ZtHZ22HEE = 804,000 708,000 96,000
OJZHZ2EX (Al 12, nsH 12/ASX
Y 2N EEE XE) 33,500,000 * 24H 804,000
201 Let24E] 837,861 639,410 198,451
01 At 22l 16,160 16, 160 0
OZHMHE 22l 900,000& = 123 10,800
OALAa2 =&t 3,600
—SAI EU 200,000& = 53| » 104 1,000
—PC ==2ltl 100,000& = 13| = 20CH 2,000
— JIEt =24l 50,000& = 12& 600
OSEAMAALY RAE24+ EFH|
1,100,000& * 14 1,100
OsSg2H4dH S48 AHEZ 15,0008 * 128 180
OSEg2MEH EJ FX&
40,000& = 12& 480
02 =224l 821,701 623,250 198,451
OCCTV | X8+ 145,500
—gHSE L Heol 25 CCTV
300,000& = 22304 66,900
— Al&2tel 24 CCTV 300,000& = 50CH 15,000
— XEHS oA CCTV 400,000& * 159CH 63,600

_13_




SIS DY Ry
D CCTV 22 (SSEMYLHE/THHY T - 21ghel)

© CCTV 2tel

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsldAIE = 440,900
— MdH 3,200,000& = 12l « 123 38,400
— 2N 100,000& » 483 & » 123 57,600
—xzssu 100,000& * 343/ & » 123 40,800
— XEHS 1Al CCTV
100,000& 872/ » 123 104,400
—S9s 80,000& = 1093l = 12& 104,640
— &7 &X CCTV 2/
100,000& = 913l & = 72 63,700
—S¥s FI2H ad
80,000& = 5634 = 78 31,360
OFSPIPN=J=4 80,900
= 1,500,000& * 12& 18,000
—2NE 20,000& » 209004 « 12& 50,160
— &5 20,0003 = 9100 = 78 12,740
OZHMAAE KX E=H 154,401
—HW(Z2HMAH, GIS/Y A S)
503,708,300 = 7/100 * 1.1 38,786
—UHESD FHI(AKAZGE L BEH|)
230,126,280 * 7/100 = 1.1 17,720
—g4/8E 318,403,000 * 7/100 = 1.1 24,518
— 20 E 113,385,470& = 7/100 * 1.1 8,731
—S/WSE2H, 2 S)
486,408,220& * 12/100 = 1.1 64,206
—XAsas) RALH 220,000& * 23| 440
207 A RO 21,500 32,000 A 10,500
02 & A I 21,500 32,000 A 10,500
OSEZHMAAE MB 0S 7
21,500,000& = 14 21,500
405 XtaHE SHI 623,500 220,000 403,500
01 XML = EFH St 623,500 220,000 403,500
OSEZHAAE 1068 WERID &4
40,000,000& = 14 40,000
Osg2Hd MEEX 54
280,000,000& * 14 280,000
OSEZHAIAE AH &4
56,500,000& = 14 56,500
OsSg2HMAAE == AH X
40,000,000 = 14! 40,000
OYHA 2t &3d 053 25
50,000,000 = 14! 50,000
OXtgierAl g2t 8igts A X|
47,000,000 = 14l 47,000
OZMHAE COE S X AAE £X
45,000,000& = 14| 45,000




S QHE T
M CCTV 2l (RREMLOE/TLT - olgrs)

el CCTV 2l (&2 &H)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OCCTV IHAKE 2tel AlIAE &X
65,000,000& * 14 65,000
HEME & XtMHIA 1,021,810 679,300 342,510
< 12,210
Al 1,009,600
AAEsLYHASHZ AU XA 131,110 114,300 16,810
301 LA Z 121,870 106,460 15,410
04 tSLHUHLH XA 121,870 106,460 15,410
OS2y OralHl XI&
3,500& = 68H  365¢ 86,870
Osgdgl 282 ¢ 60,000& » 3009 18,000
OXsddHzA ety X&
100,000& = 17JHCH = 504 & 8,500
OxsgHEs 2¢ 500,000& * 1724 CH 8,500
307 21201 A 9,240 7,840 1,400
04 QIZFHALAIH B = 9,240 7,840 1,400
ONSLHASH SSnZAME 2 IHSe0t3S
tHal(BExE 80%) 7,000,000 = 13l 7,000
OJ=ZZ2AN &g & Su=EA0g 2HHe
2,800,000& * 18 = 80/100 2,240
HA0E &5 850,000 565,000 285,000
401 Al HIZ 201 8] 850,000 565,000 285,000
01 A& HI 850,000 565,000 285,000
=2z ¢HE CCTIVE X 610,000
— XS oIAZ CCTV R
25,000,000& * 1304 325,000
— PSS AAZE CCTV 7 &R
25,000,000& * 1104 275,000
— g4 CCTV &34 Xl 10,000,000 * 1CH 10,000
Osdgs &-¥E CCTV &+ &X
4,000,000& = 57CH 228,000
ONsSgElH == =4 c2€d
6,000,000& * 242 12,000
(Z)ccTv &x 40,700 0 40,700
< 12,210
Al 28,490
401 Al HIZ 201 I 40,700 0 40,700
< 12,210
Al 28,490
01 A& HI 40,700 0 40,700
OCCTV & Xl 40,700,000 = 14l 40,700
< 12,210
Al 28,490
HY2AZ Y (CHE ) (D1EH/ JIER) 86,860 86,860 0




A LD
FM: HE2IZH (SE D) (JIEH/IIE)
el =P CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl= &l 86,860 86,860 0
Jl=dl 86,860 86,860 0
201 Let24d] 20,560 20,560 0
01 At 22/l 20,560 20,560 0
O=AERXN 7¢ 15,000& » 158FA « 1238 2,700
OS20AH| 7,000& = 64 » 1598 » 123 7,560
Oggtx=x=g8 100,000& * 128 1,200
OAL7E2 T A7 50,000& * 12& 600
O4LAa2 =&t 7,600
—SAMI(2E) =2l 500,000& * 1CH 500
— T2y =2 100,000& * 4CH = 50/100 200
—=AI EU 200,000& = 53 = 104 1,000
— Z2E(E%) E4 200,0008 * 53] * 404 4,000
— D2 (Ze) EdH  200,0002 * 53 = 104 1,000
—PC =¢cl 100,000& * 15CH = 20/100 300
— JIEt==2lHl 50,000& = 12& 600
OJIEtAIR E ZHI 5,000& = 159 * 128 900
202 (44l 62,100 62,100 0
01 S LHOIYI 62,100 62,100 0
Ozt ol 20,000& = 15% * 128 * 123 43,200
O22 Kbl 90,000& = 15% = 14 18,900
203 YR =2l 3,000 3,000 0
04 EASEYRFLH 3,000 3,000 0
ORAN2EYE=AHI 250,000& = 123 3,000
204 X 2 43 A b 1,200 1,200 0
01 M= 1,200 1,200 0
ONMIALLHAY (HE LI E)
100,000& » 12& 1,200
MRS (UML) (SSEHLH/THHET - e12R]) 493,851 461,975 31,876
WHEHHX = 493,851 461,975 31,876
LHEHe X = 493,851 461,975 31,876
702 JISHEES 493,851 461,975 31,876
(RPIE=RSE-t= 493,851 461,975 31,876
OMgzelz d&ss (MY & E2AeI=28
H67x) 148,155, 144, 100& * 1/3 = 1/100 493,851




